Mathematics 9

Finding Equations of Lines Date:
1. 2. 3.
y / Y], y
L / EPER
6 ‘ 5% Y | W :;E--L I [
™=l Uliat o N K
3 TN ( AN
s} ) ] »} { h s s} ol
3 Fisek § 3 Sl IENERNG EES=a £
1' / J //%,,_ﬁ.ﬁ_,x.‘,"
6] [ 3] 10 3 [ 0 X 6] | 34,10 3 X 6B 10 ¥3 x
a-;'-‘k y A—/ "I' | y/l} _ ]
(@l i ?
\.\_k =1
~ // JL
8 _ A
m:"‘_"'-'p\ b:"")— m:3 b:6 m = ‘2/5—' b:d-
Equation of line: N -_2. _ Equation of line: Equation of line: g_
J=mxtb =) Y =A% Y=0x+6 Y ==X+ |
4. R 5. 6. i )
y y I\ ,(\j l (Ol?
YAt '
=17y - 7 N 5
” o - T\
{ ' ' 0 v
LU &) 4 3 A
u \ \
6 3 /10 3 x 6/ B[ 10 3 x 6 3 10 \\ 3 x
g 1 \
A / _""nl \\
ARRIR! (" \Urf)
L <
-5 _ ~
m:é':s/l b:ﬁL m:-i?': l b:“'g m = /5-— b:?’
Equation of line: _ 3 X+ l Equation of line: Equation of line:
J =% =X $ Y==zx++
7. 8. 9.
y - y Yy
N oy
8 8 Ty = N 8
6 6 rar Bl 6
35 e A3o
- ] ™~ 4
6 g-s‘ T —= x AREARG D) x BT ol
~ A \\
s ~~ N B EEEEEEE RS
.y
{
m::-(a—-:-j’_ b:O m:;qg_—- = 3 m:"l/Q_ b
Equation of line: ) Equation of line: 2 3 Equation of Iin$: -
"..:—-—)( '.'.:—- =—Y-|.
Jd=3 ==X+ Y=zx-

© YRDSB




Mathematics 9

Special Graphs Are Easy! \X= Date:
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Mathematics 9

Naming Equations of Lines Date:
Place the letter of the correctly matching line in the box beside each equation.
1. 2.
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Mathematics 9

Plot & Name the Line

Date:

In each question, graph the line described then determine itszquation and write it in the space provided.
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2. The linethrough the points
A-(1,0) and (3,8).

3. The line through the points
(-6,—6) and (3,-3).
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8. The line with x-interc"e\pt 7 and
through the point (-7,—4).13
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Plot & Name the Line

10. The line with y-intercept —5
and parallel to the x-axis.

v
11. The line through the points
(-3,5) and (-3,-2).

¥ ¢s alwoy) -3
[ ¥X=3

Date:
y y y
“~ 'l.-::“
6 FARS \ 6 ‘r 64
(-39) \NF
2 2 -——‘/:’: y
O O — o e
;‘ T
& =
6. -3 0 3 X 6. .- 0 3 X 6. -3 0 3 X
(-1 -1) &7
L, - )' -L L, L,
g -3 -3
5" =0 =0 =0
Y is qlwayy -

12. The line passing through the
point (—7,2) with slope % .
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13. The line with slope % and 14. The line with slope % passing
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Answers:
1. y=3x-1 2. y=4x-4 3 y:%x—4
4. y=—-x+1 5. y=—3x 6. y=—2x+4
7. y=3x+6 8. y=2x-2 9. y=3x+3
10. y=-5 11. x=-3 12. y=2x+4
13. y=3Xx+8 14. y=2Xx—6 15. y=—6X+7
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